B MR 92 4R e g LB g\ e 4:,}- S (51)

._ N fa u_f o i et
[ # B & B ok | Ak
l A A 92 &5 H e | &

- SR (FR205H B3O

L sy = x" +ax+ b BRI y = x* F8E (L1 A00) > Bi(e b) =
(A) (1, -1)
(B) ¢-L1) .
©)(-22)
(D) (2.-2)
(B) L EEIF -

2. EES(x)=x—xe" +e" ZEPH x WA 2RE, 7
(A) 0 '
(B) 1
(€)2
(D)3
(E) 4 -

3
3. Use the trapezoidal rule with 4 subintervals to estimate .[ ;{ix , the answer will be

67
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(B) §7
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D) 1
(E) TfEfE
5. MMEBER?
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(E) m-1-
7 W || {(x,y)y zsinx,y<l+cosx0<x SC%}, the area of A is.
(A) 7+1 :
B)
(C) 7+172
D) =
7+l
E) —.
(E) 2
8. THISRGIE & FIAERRAY 7
T
(A) L |sin x|dx = 4 fzsin xalx
1]
(B) —dx =0
A | x
1 T
C »—~—-—~——c£x E
€} l+ x 4
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D P SN
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(B) PALIE -
9. Za" is a given series , which of the following stalement is not true ?
n=l
(A) If lim Z‘ajr exists Za CONVerges.
I —pdra He l
(B) If . Ilma =0 Za diverges.
n=1
() 1£D |a,| converges, Y a, converges.
n=l n=l
+) e
(D) II'Z:.Qrl diverges, Z[a"| diverges.
n=] n=t
(E) If ¥ a, converges, » (-1)"a, converges.
m=1 r=1 i
10. If A, B, C are matrices, which of the following is true?

(A) If AB exists, AB=0A.

(B) If 4 is a skew symmelric matrix, the diagonal elements of A are all zero.
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(C) trace, -1 5 2 {=-20.
2 3 -4

(D) Iif A is a s> nmatrix, ¢ is a real number, det(cA4)=cdet(4).
(E) If det(A4)=0, the linear system AX=b, b # 0has no solution.
11. Which of the following statements is true?
(A) Matrix multiplication is a vector-space operation on the set M of all n#x#n matrices.
(B) Every vector space has at least two vectors. '
(C) Multiplication of any vector by the zero scalar always yields the zero vector.
(D) The set Q of all rational numbers is a real vector space under the usual operations of
addition and scalar multiplication.
(E) None of the above.
5 12.  Which of the following statements is true‘?

(A) {(x,,%,,%,)|x, +x, +x, =1} is a subspace of K’ .
(B) §= {(x,1)'|x € R } is a subspace of R* .

(C) S={(x,,%,.%,)"|x, = x, } is a subspace of R’ .

(D) If ¥ and W are two subspace of R", then both ¥ n W and V UMW are subspaces of
R
(E) None of the above.
13.  Which of the following statements is not true?
(A) The standard operations in R" are vector addition and scalar multiplication.
(B) The additive inverse of a given vector is not unique.
(C) A vector space consists of four entities: a set of vectors, a set of scalars, and two
operations. .
(D) A linearly independent spanning set S is called a basis of a vector space V.
(E) The set of points on the line given by x+ y =0 isa subspace of R .
14. The Wronskian for the given set of function {e ™, xe ™ ,(x+3)e™ } is
(A) 2¢7*
(B) e
(C) 2¢™ i
(D) e d )
E) 0. '
15. Let A and B be similar matrices, which one of the following statement is not true?
(A) If 4 is singular, then sois Band 4" and B~ are similar.
(B) A" and BT are similar.
(C) There exists a matrix P such that BX = P7'4%p.
(D) If B is similar to C, then A4 is similar to C.
(E) All of the above.
16. Let T:R’ — R® be a linear transformation such that 7(1) =1-x ,7'(x) = x + x*,
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T(x*)=1+2x and7(x*)=2-x, then T(2-3x+x"=2x")= i

(A) —2+3x+2x%
(B)-2+3x-x°
(C) -2 -3x—2x*
(D} —1+3x—x"
(B} —1-3x~x2.

17. Which staternent is not true?

(A) An nxn matrix P is orthogonal if and only it its column vectors form an

orthonormal set.

(B) Let 4 bean nxs symmetric matrix. If 4, and A, are distinct eigenvalues of 4,
then their corresponding eigenvectors X, and X, are orthogonal.

(C) Let A be an nx# matrix, then A is orthogonally diagonalizable and has real
eigenvalues if and only if 4 is not symmetric.

(D) If 4 and B are similar nx nmalrices, then they have the same eigenvalues.

(E) None of the above.

18. LetAbean nxn matrix, and let 1 be an ¢igenvalue of 4, then which one of the

following statement is not true?’ '

(A) A" is an eigenvalue of A%, k=23,.....

(B) If 4 is nonsingular, then 1/ is an eigenvalue of A4 Ly

(C) If ¢ is any scalar, then A+ ¢ is an eigenvalue of 4 -+ ¢/.

(D) Aand A" have different eigenvalues.

(E) None of the above =

19.  Which of the following set of vectors in £ is not orthogonal?

20.

(A) {(4-11),(-1,0,4),(-4,-17,-1) }

V2 2 sz 1Ok |

B) (00,599,057 _0) el
e
(D){flre—__)(,_%i__ﬁ)(«fs ;)}

(E) None of the above.

The matrix A’ for T:R* —» R*,T(x,x,)=(2x, - 2x,,~x, + 3x,), relative to the basis

B’ ={(1,0),(1,1)} is

, [3 -2
@ya= 2|
s ol =g
(B)A=__1 5 o
oo ' .
((J]A=-‘2 3 | s _
ST =g
(D)A=__2 ]]
E) 4= 2 -2
...-_t 2_
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2. [ [ dydy = (3
X
_ j:(' (1-x)%dx
24, lim . = (043
f—% o0 Jﬂ‘\’(;dx ..L,_L
( il ‘I
25. The interval of £l )X s
¢ interval o convergence o1 e series }_{ Jn+1 1S

26.If f(x)= i ,wehave F27(0)= (26) .

27. Given the set of data points as {{(-2,2), (-1,1), (0,1), (1,3)}, then the least squares regression
line for this set of data pointis (27) .

28. The mairix that rotaie counterclockwise by n/3 and then reflects about the line y=-x is (_E_L

29. For the vectors u ={0,1,3,-6) and v=(-11,2,2), the orthogonal projection of « onto v is

529!. s N
5 -6
30.If A=L 4:],‘rhanm= (30) .



